

MEASURE THEORETIC GENERALIZATION OF PEČARIĆ, MERCER AND WU-SRIVASTAVA RESULTS

JULIJE JAKŠETIĆ, JOSIP PEČARIĆ AND KSENIJA SMOLJAK KALAMIR

ABSTRACT. In this paper generalizations of Steffensen's inequality obtained by Pečarić, Mercer and Wu-Srivastava are further extended in a measure theoretic sense. Motivated by Wu and Srivastava's refined and sharpened version of Mercer's result related inequalities for positive Borel measures are obtained.

1. INTRODUCTION

Well-known Steffensen's inequality is firstly published in 1918 (see [9]):

Theorem 1.1. *Suppose that f is nonincreasing and g is integrable on $[a, b]$ with $0 \leq g \leq 1$ and*

$$\lambda = \int_a^b g(t)dt. \quad (1.1)$$

Then we have

$$\int_{b-\lambda}^b f(t)dt \leq \int_a^b f(t)g(t)dt \leq \int_a^{a+\lambda} f(t)dt. \quad (1.2)$$

Since its appearance, Steffensen's inequality has been generalized in many ways. A comprehensive survey on its generalizations and refinements can be found in [8]. We recall the following generalizations of Steffensen's inequality proved by Pečarić in [6]. Here, explicit form (1.1) for λ is replaced with an implicit equation.

Theorem 1.2. *Let h be a positive integrable function on $[a, b]$ and f be an integrable function such that f/h is nondecreasing on $[a, b]$. If g is a*

2010 *Mathematics Subject Classification.* Primary 26D15; Secondary 26D20.

Key words and phrases. Steffensen's inequality, Borel σ -algebra, refinements, weaker conditions.

Copyright © 2016 by ANUBIH.

real-valued integrable function such that $0 \leq g \leq 1$, then

$$\int_a^b f(t)g(t)dt \geq \int_a^{a+\lambda} f(t)dt$$

holds, where λ is the solution of the equation

$$\int_a^{a+\lambda} h(t)dt = \int_a^b h(t)g(t)dt.$$

Theorem 1.3. *Let the conditions of Theorem 1.2 be fulfilled. Then*

$$\int_a^b f(t)g(t)dt \leq \int_{b-\lambda}^b f(t)dt$$

where λ is the solution of the equation

$$\int_{b-\lambda}^b h(t)dt = \int_a^b h(t)g(t)dt.$$

In the following theorem we recall weaker conditions for function g in Steffensen's inequality given by Milovanović and Pečarić in [5].

Theorem 1.4. *Let f and g be integrable functions on $[a, b]$ and let $\lambda = \int_a^b g(t)dt$.*

- (a) *The second inequality in (1.2) holds for every nonincreasing function f if and only if*

$$\int_a^x g(t)dt \leq x - a \quad \text{and} \quad \int_x^b g(t)dt \geq 0, \quad \text{for every } x \in [a, b].$$

- (b) *The first inequality in (1.2) holds for every nonincreasing function f if and only if*

$$\int_x^b g(t)dt \leq b - x \quad \text{and} \quad \int_a^x g(t)dt \geq 0, \quad \text{for every } x \in [a, b].$$

The aim of this paper is to extend generalizations of Steffensen's inequality obtained by Pečarić, Mercer, Wu and Srivastava in [4, 6, 10] to analogous results with measures on Borel σ -algebra. Motivated by refined and sharpened versions given by Wu and Srivastava in [10] and by Pečarić, Perušić and Smoljak in [7] we obtain related inequalities for positive measures on Borel σ -algebra. Further, we give weaker conditions for function g in obtained generalizations and refinements. We conclude the paper with applications related to linear functionals defined as the difference between the left-hand and the right-hand side of obtained inequalities.

2. MAIN RESULTS

In the sequel by $\mathcal{B}([a, b])$ we denote Borel σ -algebra on $[a, b]$. We first give measure theoretic version of Theorems 1.2 and 1.3.

Theorem 2.1. *Let μ be a positive finite measure on $\mathcal{B}([a, b])$, let f, g and h be measurable functions on $[a, b]$ such that h is positive, f/h is nonincreasing and $0 \leq g \leq 1$.*

(a) *If there exists $\lambda \in \mathbb{R}_+$ such that*

$$\int_{[a, a+\lambda]} h(t) d\mu(t) = \int_{[a, b]} h(t)g(t) d\mu(t), \quad (2.1)$$

then

$$\int_{[a, b]} f(t)g(t) d\mu(t) \leq \int_{[a, a+\lambda]} f(t) d\mu(t). \quad (2.2)$$

(b) *If there exists $\lambda \in \mathbb{R}_+$ such that*

$$\int_{(b-\lambda, b]} h(t) d\mu(t) = \int_{[a, b]} h(t)g(t) d\mu(t), \quad (2.3)$$

then

$$\int_{(b-\lambda, b]} f(t) d\mu(t) \leq \int_{[a, b]} f(t)g(t) d\mu(t). \quad (2.4)$$

Proof. Let us prove the (a)-part. Transformation of the difference between the right-hand side and the left-hand side of inequality (2.2) gives

$$\begin{aligned} & \int_{[a, a+\lambda]} f(t) d\mu(t) - \int_{[a, b]} f(t)g(t) d\mu(t) \\ &= \int_{[a, a+\lambda]} (1 - g(t))f(t) d\mu(t) - \int_{(a+\lambda, b]} f(t)g(t) d\mu(t) \\ &\geq \frac{f(a+\lambda)}{h(a+\lambda)} \int_{[a, a+\lambda]} h(t)(1 - g(t)) d\mu(t) - \int_{(a+\lambda, b]} f(t)g(t) d\mu(t) \\ &= \frac{f(a+\lambda)}{h(a+\lambda)} \left(\int_{[a, b]} h(t)g(t) d\mu(t) - \int_{[a, a+\lambda]} h(t)g(t) d\mu(t) \right) \\ &\quad - \int_{(a+\lambda, b]} f(t)g(t) d\mu(t) = \int_{(a+\lambda, b]} g(t)h(t) \left(\frac{f(a+\lambda)}{h(a+\lambda)} - \frac{f(t)}{h(t)} \right) d\mu(t) \geq 0, \end{aligned}$$

where we use (2.1). Proof of the (b)-part is similar so we omit the details. \square

Theorem 2.2. *Let μ be a positive finite measure on $\mathcal{B}([a, b])$, let f, g and h be measurable functions on $[a, b]$ such that h is positive, f is nonnegative, $0 \leq g \leq 1$ and f/h is nonincreasing.*

(a) *If there exists $\lambda \in \mathbb{R}_+$ such that*

$$\int_{[a, a+\lambda]} h(t) d\mu(t) \geq \int_{[a, b]} h(t)g(t) d\mu(t), \quad (2.5)$$

then (2.2) holds.

(b) *If there exists $\lambda \in \mathbb{R}_+$ such that*

$$\int_{(b-\lambda, b]} h(t) d\mu(t) \leq \int_{[a, b]} h(t)g(t) d\mu(t),$$

then (2.4) holds.

Proof. From the conditions of theorem we have that f/h is nonnegative. Hence, condition (2.5) together with $f(a+\lambda)/h(a+\lambda) \geq 0$ enables us to re-adjust the proof of Theorem 2.1 (a) to prove the (a)-part. Similarly we obtain the (b)-part. \square

Remark 2.1. Taking $h \equiv 1$ in Theorems 2.1 and 2.2 we have Steffensen's inequality for positive measures obtained by Jakšetić and Pečarić in [2].

In [4] Mercer proved a generalization of Steffensen's inequality. Wu and Srivastava noted that his generalization is incorrect as stated (see [10]). Pečarić, Perušić and Smoljak proved in [7] that corrected version of Mercer's results follows from Theorems 1.2 and 1.3. Using approach from [7] in the following theorems we obtain corrected version of Mercer's generalization in measure theory settings.

Theorem 2.3. *Let μ be a positive finite measure on $\mathcal{B}([a, b])$, let f, g and h be measurable functions on $[a, b]$ such that h is positive, f is nonincreasing and $0 \leq g \leq h$.*

(a) *If there exists $\lambda \in \mathbb{R}_+$ such that*

$$\int_{[a, a+\lambda]} h(t) d\mu(t) = \int_{[a, b]} g(t) d\mu(t), \quad (2.6)$$

then

$$\int_{[a, b]} f(t)g(t) d\mu(t) \leq \int_{[a, a+\lambda]} f(t)h(t) d\mu(t). \quad (2.7)$$

(b) *If there exists $\lambda \in \mathbb{R}_+$ such that*

$$\int_{(b-\lambda, b]} h(t) d\mu(t) = \int_{[a, b]} g(t) d\mu(t), \quad (2.8)$$

then

$$\int_{(b-\lambda, b]} f(t)h(t) d\mu(t) \leq \int_{[a, b]} f(t)g(t) d\mu(t). \quad (2.9)$$

Proof. Putting substitutions $g \mapsto g/h$ and $f \mapsto fh$ in Theorem 2.1 we obtain statements of this theorem. \square

Theorem 2.4. *Let μ be a positive finite measure on $\mathcal{B}([a, b])$, let f, g and h be measurable functions on $[a, b]$ such that h is positive, $0 \leq g \leq h$, and f is nonnegative and nonincreasing.*

(a) *If there exists $\lambda \in \mathbb{R}_+$ such that*

$$\int_{[a, a+\lambda]} h(t)d\mu(t) \geq \int_{[a, b]} g(t)d\mu(t), \quad (2.10)$$

then (2.7) holds.

(b) *If there exists $\lambda \in \mathbb{R}_+$ such that*

$$\int_{(b-\lambda, b]} h(t)d\mu(t) \leq \int_{[a, b]} g(t)d\mu(t), \quad (2.11)$$

then (2.9) holds.

Proof. Putting substitutions $g \mapsto g/h$ and $f \mapsto fh$ in Theorem 2.2 we obtain statements of this theorem. \square

In [4] Mercer also proved a generalization of Steffensen's inequality which is equivalent to Theorem 1.2. This equivalence was showed in [7]. In the following theorem we obtain its generalization in measure theory settings.

Theorem 2.5. *Let μ be a positive finite measure on $\mathcal{B}([a, b])$, let f, g, h and k be measurable functions on $[a, b]$ such that k is positive, $0 \leq g \leq h$ and f/k is nonincreasing.*

(a) *If there exists $\lambda \in \mathbb{R}_+$ such that*

$$\int_{[a, a+\lambda]} h(t)k(t)d\mu(t) = \int_{[a, b]} g(t)k(t)d\mu(t), \quad (2.12)$$

then

$$\int_{[a, b]} f(t)g(t)d\mu(t) \leq \int_{[a, a+\lambda]} f(t)h(t)d\mu(t). \quad (2.13)$$

(b) *If there exists $\lambda \in \mathbb{R}_+$ such that*

$$\int_{(b-\lambda, b]} h(t)k(t)d\mu(t) = \int_{[a, b]} g(t)k(t)d\mu(t), \quad (2.14)$$

then

$$\int_{(b-\lambda, b]} f(t)h(t)d\mu(t) \leq \int_{[a, b]} f(t)g(t)d\mu(t). \quad (2.15)$$

Proof. Take $h \mapsto kh$, $g \mapsto g/h$ and $f \mapsto fh$ in Theorem 2.1. \square

Theorem 2.6. *Let μ be a positive finite measure on $\mathcal{B}([a, b])$, let f, g, h and k be measurable functions on $[a, b]$ such that k is positive, f is nonnegative, $0 \leq g \leq h$ and f/k is nonincreasing.*

(a) *If there exists $\lambda \in \mathbb{R}_+$ such that*

$$\int_{[a, a+\lambda]} h(t)k(t)d\mu(t) \geq \int_{[a, b]} g(t)k(t)d\mu(t), \quad (2.16)$$

then (2.13) holds.

(b) *If there exists $\lambda \in \mathbb{R}_+$ such that*

$$\int_{(b-\lambda, b]} h(t)k(t)d\mu(t) \leq \int_{[a, b]} g(t)k(t)d\mu(t), \quad (2.17)$$

then (2.15) holds.

Proof. Take $h \mapsto kh$, $g \mapsto g/h$ and $f \mapsto fh$ in Theorem 2.2. \square

Remark 2.2. Taking $k \equiv 1$ in Theorems 2.5 and 2.6 we have results given in Theorems 2.3 and 2.4.

Motivated by corrected and refined version of Mercer's results given by Wu and Srivastava in [10] we obtain the following results for positive measure.

Theorem 2.7. *Let μ be a positive finite measure on $\mathcal{B}([a, b])$, let f, g and h be measurable functions on $[a, b]$ such that $0 \leq g \leq h$ and f is nonincreasing.*

(a) *If there exists $\lambda \in \mathbb{R}_+$ such that*

$$\int_{[a, a+\lambda]} h(t)d\mu(t) = \int_{[a, b]} g(t)d\mu(t),$$

then

$$\begin{aligned} \int_{[a, b]} f(t)g(t)d\mu(t) &\leq \int_{[a, a+\lambda]} (f(t)h(t) - [f(t) - f(a + \lambda)][h(t) - g(t)]) d\mu(t) \\ &\leq \int_{[a, a+\lambda]} f(t)h(t)d\mu(t). \end{aligned} \quad (2.18)$$

(b) *If there exists $\lambda \in \mathbb{R}_+$ such that*

$$\int_{(b-\lambda, b]} h(t)d\mu(t) = \int_{[a, b]} g(t)d\mu(t),$$

then

$$\begin{aligned} \int_{(b-\lambda, b]} f(t)h(t)d\mu(t) &\leq \int_{(b-\lambda, b]} (f(t)h(t) - [f(t) - f(b - \lambda)][h(t) - g(t)]) d\mu(t) \\ &\leq \int_{[a, b]} f(t)g(t)d\mu(t). \end{aligned} \quad (2.19)$$

Proof. The proof is based on the following identities:

$$\begin{aligned} \int_{[a,b]} f(t)g(t)d\mu(t) &= \int_{[a,a+\lambda]} (f(t)h(t) - [f(t) - f(a + \lambda)][h(t) - g(t)]) d\mu(t) \\ &\quad + \int_{(a+\lambda,b]} [f(t) - f(a + \lambda)]g(t)d\mu(t) \end{aligned} \quad (2.20)$$

and

$$\begin{aligned} \int_{[a,b]} f(t)g(t)d\mu(t) &= \int_{(b-\lambda,b]} (f(t)h(t) - [f(t) - f(b - \lambda)][h(t) - g(t)]) d\mu(t) \\ &\quad + \int_{[a,b-\lambda]} [f(t) - f(b - \lambda)]g(t)d\mu(t). \end{aligned} \quad (2.21)$$

Let us prove the first one. Transformation of the right-hand side of identity (2.20) gives the following

$$\begin{aligned} &\int_{[a,a+\lambda]} (f(t)h(t) - [f(t) - f(a + \lambda)][h(t) - g(t)]) d\mu(t) \\ &+ \int_{(a+\lambda,b]} [f(t) - f(a + \lambda)]g(t)d\mu(t) = \int_{(a+\lambda,b]} f(t)g(t)d\mu(t) \\ &+ \int_{[a,a+\lambda]} [f(t)g(t) + f(a + \lambda)(h(t) - g(t))] d\mu(t) - f(a + \lambda) \int_{(a+\lambda,b]} g(t)d\mu(t) \\ &= \int_{[a,b]} f(t)g(t)d\mu(t) + f(a + \lambda) \left[\int_{[a,a+\lambda]} (h(t) - g(t))d\mu(t) - \int_{(a+\lambda,b]} g(t)d\mu(t) \right] \\ &= \int_{[a,b]} f(t)g(t)d\mu(t) + f(a + \lambda) \left[\int_{[a,a+\lambda]} h(t)d\mu(t) - \int_{[a,b]} g(t)d\mu(t) \right] \\ &= \int_{[a,b]} f(t)g(t)d\mu(t) \end{aligned}$$

where in the last equality we use a definition of λ i.e.

$$\int_{[a,a+\lambda]} h(t)d\mu(t) = \int_{[a,b]} g(t)d\mu(t).$$

The second identity can be proved in a similar manner.

Since f is nonincreasing on $[a, b]$ we have $f(t) \geq f(a + \lambda)$ for all $t \in [a, a + \lambda]$ and $f(t) \leq f(a + \lambda)$ for all $t \in [a + \lambda, b]$. Then

$$\int_{(a+\lambda,b]} [f(t) - f(a + \lambda)]g(t)d\mu(t) \leq 0$$

and

$$\int_{[a,a+\lambda]} [f(t) - f(a + \lambda)][h(t) - g(t)]d\mu(t) \geq 0.$$

Using (2.20) and above inequalities we obtain

$$\begin{aligned} \int_{[a,b]} f(t)g(t)d\mu(t) &\leq \int_{[a,a+\lambda]} (f(t)h(t) - [f(t) - f(a + \lambda)][h(t) - g(t)]) d\mu(t) \\ &\leq \int_{[a,a+\lambda]} f(t)h(t)d\mu(t). \end{aligned}$$

Similarly, we obtain (2.19) using identity (2.21). \square

Theorem 2.8. *Let μ be a positive finite measure on $\mathcal{B}([a, b])$, let f, g and h be measurable functions on $[a, b]$ such that $0 \leq g \leq h$ and f is nonnegative and nonincreasing.*

(a) *If there exists $\lambda \in \mathbb{R}_+$ such that*

$$\int_{[a,a+\lambda]} h(t)d\mu(t) \geq \int_{[a,b]} g(t)d\mu(t),$$

then (2.18) holds.

(b) *If there exists $\lambda \in \mathbb{R}_+$ such that*

$$\int_{(b-\lambda,b]} h(t)d\mu(t) \leq \int_{[a,b]} g(t)d\mu(t),$$

then (2.19) holds.

Proof. Re-adjusting proof of Theorem 2.7 we have that the proof is based on the following inequalities:

$$\begin{aligned} \int_{[a,b]} f(t)g(t)d\mu(t) &\leq \int_{[a,a+\lambda]} (f(t)h(t) - [f(t) - f(a + \lambda)][h(t) - g(t)]) d\mu(t) \\ &\quad + \int_{(a+\lambda,b]} [f(t) - f(a + \lambda)]g(t)d\mu(t) \end{aligned}$$

and

$$\begin{aligned} \int_{[a,b]} f(t)g(t)d\mu(t) &\geq \int_{(b-\lambda,b]} (f(t)h(t) - [f(t) - f(b - \lambda)][h(t) - g(t)]) d\mu(t) \\ &\quad + \int_{[a,b-\lambda]} [f(t) - f(b - \lambda)]g(t)d\mu(t). \end{aligned}$$

\square

In the following theorems we obtain a refined version of results given in Theorems 2.5 and 2.6.

Theorem 2.9. *Let μ be a positive finite measure on $\mathcal{B}([a, b])$, let f, g, h and k be measurable functions on $[a, b]$ such that $0 \leq g \leq h$ and f/k is nonincreasing.*

(a) If there exists $\lambda \in \mathbb{R}_+$ such that (2.12) holds, then

$$\begin{aligned} & \int_{[a,b]} f(t)g(t)d\mu(t) \\ & \leq \int_{[a,a+\lambda]} \left(f(t)h(t) - \left[\frac{f(t)}{k(t)} - \frac{f(a+\lambda)}{k(a+\lambda)} \right] k(t)[h(t) - g(t)] \right) d\mu(t) \\ & \leq \int_{[a,a+\lambda]} f(t)h(t)d\mu(t). \end{aligned} \quad (2.22)$$

(b) If there exists $\lambda \in \mathbb{R}_+$ such that (2.14) holds, then

$$\begin{aligned} & \int_{(b-\lambda,b]} f(t)h(t)d\mu(t) \\ & \leq \int_{(b-\lambda,b]} \left(f(t)h(t) - \left[\frac{f(t)}{k(t)} - \frac{f(b-\lambda)}{k(b-\lambda)} \right] k(t)[h(t) - g(t)] \right) d\mu(t) \\ & \leq \int_{[a,b]} f(t)g(t)d\mu(t). \end{aligned} \quad (2.23)$$

Proof. Take $h \mapsto kh$, $g \mapsto kg$ and $f \mapsto f/k$ in Theorem 2.7. \square

Theorem 2.10. Let μ be a positive finite measure on $\mathcal{B}([a,b])$, let f, g, h and k be measurable functions on $[a,b]$ such that f is nonnegative, $0 \leq g \leq h$ and f/k is nonincreasing.

(a) If there exists $\lambda \in \mathbb{R}_+$ such that (2.16) holds, then (2.22) holds.

(b) If there exists $\lambda \in \mathbb{R}_+$ such that (2.17) holds, then (2.23) holds.

Wu and Srivastava also proved a new sharpened and generalized version of Mercer's result (see [10]). We extend their result to Borel σ -algebra.

Theorem 2.11. Let μ be a positive finite measure on $\mathcal{B}([a,b])$, let f, g, h and ψ be measurable functions on $[a,b]$ such that $0 \leq \psi \leq g \leq h - \psi$ and f is nonincreasing.

(a) If there exists $\lambda \in \mathbb{R}_+$ such that (2.6) holds, then

$$\int_{[a,b]} f(t)g(t)d\mu(t) \leq \int_{[a,a+\lambda]} f(t)h(t)d\mu(t) - \int_{[a,b]} |f(t) - f(a+\lambda)| \psi(t)d\mu(t). \quad (2.24)$$

(b) If there exists $\lambda \in \mathbb{R}_+$ such that (2.8) holds, then

$$\int_{(b-\lambda,b]} f(t)h(t)d\mu(t) + \int_{[a,b]} |f(t) - f(b-\lambda)| \psi(t)d\mu(t) \leq \int_{[a,b]} f(t)g(t)d\mu(t). \quad (2.25)$$

Proof. Since f is nonincreasing on $[a, b]$ we have $f(t) \geq f(a + \lambda)$ for all $t \in [a, a + \lambda]$ and $f(t) \leq f(a + \lambda)$ for all $t \in [a + \lambda, b]$. Now using identity (2.20) we get

$$\begin{aligned}
& \int_{[a, a+\lambda]} f(t)h(t)d\mu(t) - \int_{[a, b]} f(t)g(t)d\mu(t) \\
&= \int_{[a, a+\lambda]} [f(t) - f(a + \lambda)][h(t) - g(t)]d\mu(t) \\
&\quad - \int_{(a+\lambda, b]} [f(t) - f(a + \lambda)]g(t)d\mu(t) \\
&\geq \int_{[a, a+\lambda]} |f(t) - f(a + \lambda)|\psi(t)d\mu(t) + \int_{(a+\lambda, b]} |f(a + \lambda) - f(t)|\psi(t)d\mu(t) \\
&= \int_{[a, b]} |f(t) - f(a + \lambda)|\psi(t)d\mu(t)
\end{aligned}$$

and the proof of the first statement is established.

The second statement can be proved in a similar manner using identity (2.21). \square

Theorem 2.12. *Let μ be a positive finite measure on $\mathcal{B}([a, b])$, let f, g, h and ψ be measurable functions on $[a, b]$ such that $0 \leq \psi \leq g \leq h - \psi$ and f is nonnegative and nonincreasing.*

- (a) *If there exists $\lambda \in \mathbb{R}_+$ such that (2.10) holds, then (2.24) holds.*
- (b) *If there exists $\lambda \in \mathbb{R}_+$ such that (2.11) holds, then (2.25) holds.*

In the following theorems we obtain sharpening of results given in Theorems 2.5 and 2.6.

Theorem 2.13. *Let μ be a positive finite measure on $\mathcal{B}([a, b])$, let f, g, h, k and ψ be measurable functions on $[a, b]$ such that k is positive, $0 \leq \psi \leq g \leq h - \psi$ and f/k is nonincreasing.*

- (a) *If there exists $\lambda \in \mathbb{R}_+$ such that (2.12) holds, then*

$$\begin{aligned}
\int_{[a, b]} f(t)g(t)d\mu(t) &\leq \int_{[a, a+\lambda]} f(t)h(t)d\mu(t) \\
&\quad - \int_{[a, b]} \left| \left(\frac{f(t)}{k(t)} - \frac{f(a + \lambda)}{k(a + \lambda)} \right) \right| k(t)\psi(t)d\mu(t). \quad (2.26)
\end{aligned}$$

(b) If there exists $\lambda \in \mathbb{R}_+$ such that (2.14) holds, then

$$\begin{aligned} \int_{(b-\lambda, b]} f(t)h(t)d\mu(t) + \int_{[a, b]} \left| \left(\frac{f(t)}{k(t)} - \frac{f(b-\lambda)}{k(b-\lambda)} \right) \right| k(t)\psi(t)d\mu(t) \\ \leq \int_{[a, b]} f(t)g(t)d\mu(t). \end{aligned} \quad (2.27)$$

Proof. Take $g \mapsto kg$, $f \mapsto f/k$, $h \mapsto kh$ and $\psi \mapsto k\psi$ in Theorem 2.11. \square

Theorem 2.14. Let μ be a positive finite measure on $\mathcal{B}([a, b])$, let f, g, h, k and ψ be measurable functions on $[a, b]$ such that k is positive, $0 \leq \psi \leq g \leq h - \psi$, f is nonnegative and f/k is nonincreasing.

- (a) If there exists $\lambda \in \mathbb{R}_+$ such that (2.16) holds, then (2.26) holds.
 (b) If there exists $\lambda \in \mathbb{R}_+$ such that (2.17) holds, then (2.27) holds.

Proof. Take $g \mapsto kg$, $f \mapsto f/k$, $h \mapsto kh$ and $\psi \mapsto k\psi$ in Theorem 2.12. \square

3. WEAKER CONDITIONS

Motivated by weaker conditions given in Theorem 1.4 we obtain weaker conditions for some generalizations and refinements given in the previous section. In the following theorem we obtain weaker conditions for Theorem 2.5 and more general version of analog theorem from [3].

Theorem 3.1. Let μ be a positive finite measure on $\mathcal{B}([a, b])$, let g, h and k be μ -integrable functions on $[a, b]$ such that k is positive and h is nonnegative.

- (a) Let consider λ be a positive constant such that $\int_{[a, a+\lambda]} h(t)k(t)d\mu(t) = \int_{[a, b]} g(t)k(t)d\mu(t)$. The inequality

$$\int_{[a, b]} f(t)g(t)d\mu(t) \leq \int_{[a, a+\lambda]} f(t)h(t)d\mu(t) \quad (3.1)$$

holds for every nonincreasing, right-continuous function $f/k : [a, b] \rightarrow \mathbb{R}$ if and only if

$$\int_{[a, x]} k(t)g(t)d\mu(t) \leq \int_{[a, x]} k(t)h(t)d\mu(t) \quad \text{and} \quad \int_{[x, b]} k(t)g(t)d\mu(t) \geq 0, \quad (3.2)$$

for every $x \in [a, b]$.

- (b) Let consider λ be a positive constant such that $\int_{(b-\lambda, b]} h(t)k(t)d\mu(t) = \int_{[a, b]} g(t)k(t)d\mu(t)$. The inequality

$$\int_{(b-\lambda, b]} f(t)h(t)d\mu(t) \leq \int_{[a, b]} f(t)g(t)d\mu(t) \quad (3.3)$$

holds for every nonincreasing, right-continuous function $f/k : [a, b] \rightarrow \mathbb{R}$ if and only if

$$\int_{[x, b]} k(t)g(t)d\mu(t) \leq \int_{[x, b]} k(t)h(t)d\mu(t) \quad \text{and} \quad \int_{[a, x]} k(t)g(t)d\mu(t) \geq 0,$$

for every $x \in [a, b]$.

Proof.

(a) For the sufficiency part we use the identity

$$\begin{aligned} & \int_{[a, a+\lambda]} f(t)h(t)d\mu(t) - \int_{[a, b]} f(t)g(t)d\mu(t) \\ &= \int_{[a, a+\lambda]} \left[\frac{f(t)}{k(t)} - \frac{f(a+\lambda)}{k(a+\lambda)} \right] k(t)[h(t) - g(t)]d\mu(t) \\ &+ \int_{(a+\lambda, b]} \left[\frac{f(a+\lambda)}{k(a+\lambda)} - \frac{f(t)}{k(t)} \right] k(t)g(t)d\mu(t). \end{aligned} \quad (3.4)$$

We define a new measure ν on σ -algebra $\mathcal{B}((a, b])$ such that, on an algebra of finite disjoint unions of half open intervals, we set

$$\nu((c, d]) = \frac{f(c)}{k(c)} - \frac{f(d)}{k(d)}, \quad \text{for } a < c < d \leq b,$$

and then we pass to $\mathcal{B}((a, b])$ in a unique way (for details see, for example, [1, p. 21]).

Now, using Fubini, we have

$$\begin{aligned} & \int_{[a, a+\lambda]} \left[\frac{f(t)}{k(t)} - \frac{f(a+\lambda)}{k(a+\lambda)} \right] k(t)[h(t) - g(t)]d\mu(t) \\ &= \int_{[a, a+\lambda]} \left[\int_{(t, a+\lambda]} d\nu(x) \right] k(t)[h(t) - g(t)]d\mu(t) \\ &= \int_{(a, a+\lambda]} \left[\int_{[a, x]} k(t)[h(t) - g(t)]d\mu(t) \right] d\nu(x). \end{aligned} \quad (3.5)$$

Similarly,

$$\int_{(a+\lambda, b]} \left[\frac{f(a+\lambda)}{k(a+\lambda)} - \frac{f(t)}{k(t)} \right] k(t)g(t)d\mu(t) = \int_{(a+\lambda, b]} \left[\int_{[x, b]} k(t)g(t)d\mu(t) \right] d\nu(x). \quad (3.6)$$

Now using (3.5) and (3.6) we have that (3.4) is in fact

$$\begin{aligned} & \int_{[a, a+\lambda]} f(t)h(t)d\mu(t) - \int_{[a, b]} f(t)g(t)d\mu(t) \\ &= \int_{(a, a+\lambda]} \left[\int_{[a, x]} k(t)(h(t) - g(t))d\mu(t) \right] d\nu(x) \\ & \quad + \int_{(a+\lambda, b]} \left[\int_{[x, b]} k(t)g(t)d\mu(t) \right] d\nu(x), \end{aligned}$$

concluding (3.1) under assumptions (3.2).

The previous conditions are also necessary. In fact, if x is any element of $[a, b]$, then let f be the function defined by

$$f(t) = \begin{cases} k(t), & t < x; \\ 0, & t \geq x. \end{cases}$$

We have that f/k is a nonincreasing function. Using inequality (3.1) we obtain

$$\begin{aligned} \int_{[a, x]} k(t)g(t)d\mu(t) &= \int_{[a, b]} f(t)g(t)d\mu(t) \leq \int_{[a, a+\lambda]} f(t)h(t)d\mu(t) \\ &= \begin{cases} \int_{[a, x]} k(t)h(t)d\mu(t), & x \in [a, a + \lambda]; \\ \int_{[a, a+\lambda]} k(t)h(t)d\mu(t), & x \in (a + \lambda, b]. \end{cases} \end{aligned} \quad (3.7)$$

If $x \in (a + \lambda, b]$ then $\int_{[a, x]} k(t)h(t)d\mu(t) \geq \int_{[a, a+\lambda]} k(t)h(t)d\mu(t)$, so from (3.7), we have

$$\int_{[a, x]} k(t)g(t)d\mu(t) \leq \int_{[a, x]} k(t)h(t)d\mu(t), \quad \text{for every } x \in [a, b].$$

Also, if $x \in (a + \lambda, b]$, from (3.7) and definition of λ we have $\int_{[a, x]} k(t)g(t)d\mu(t) \leq \int_{[a, a+\lambda]} k(t)h(t)d\mu(t) = \int_{[a, b]} k(t)g(t)d\mu(t)$, concluding

$$\int_{[x, b]} k(t)g(t)d\mu(t) \geq 0, \quad \text{for every } x \in (a + \lambda, b].$$

Finally, if $x \in [a, a + \lambda]$, then

$$\begin{aligned} & \int_{[x, b]} k(t)g(t)d\mu(t) = \int_{[a, b]} k(t)g(t)d\mu(t) - \int_{[a, x]} k(t)g(t)d\mu(t) \\ & \geq \int_{[a, a+\lambda]} k(t)h(t)d\mu(t) - \int_{[a, x]} k(t)h(t)d\mu(t) = \int_{[x, a+\lambda]} k(t)h(t)d\mu(t) \geq 0, \end{aligned}$$

concluding

$$\int_{[x,b]} k(t)g(t)d\mu(t) \geq 0, \quad \text{for every } x \in [a, b].$$

(b) The proof of this part is similar to the proof of (a)-part so we omit the details. \square

Remark 3.1. Taking $h \equiv 1$ in Theorem 3.1 we obtain weaker conditions for Theorem 2.1.

We continue with weaker conditions for Theorem 2.9.

Theorem 3.2. *Let μ be a positive finite measure on $\mathcal{B}([a, b])$, let g, h and k be μ -integrable functions on $[a, b]$ such that k is positive and h is nonnegative.*

- (a) *Let consider λ be a positive constant such that $\int_{[a, a+\lambda]} h(t)k(t)d\mu(t) = \int_{[a, b]} g(t)k(t)d\mu(t)$. If conditions (3.2) hold for every $x \in [a, b]$, then (2.22) holds for every nonincreasing, right-continuous function $f/k : [a, b] \rightarrow \mathbb{R}$.*
- (b) *Let consider λ be a positive constant such that $\int_{(b-\lambda, b]} h(t)k(t)d\mu(t) = \int_{[a, b]} g(t)k(t)d\mu(t)$. If conditions (3.3) hold for every $x \in [a, b]$, then (2.23) holds for every nonincreasing, right-continuous function $f/k : [a, b] \rightarrow \mathbb{R}$.*

Proof. Let us prove (a)-part. Using identity (3.4) and a measure ν on σ -algebra $\mathcal{B}((a, b])$ as in the proof of Theorem 3.1 we have

$$\begin{aligned} & \int_{[a, a+\lambda]} f(t)h(t)d\mu(t) - \int_{[a, b]} f(t)g(t)d\mu(t) \\ & \quad - \int_{[a, a+\lambda]} \left[\frac{f(t)}{k(t)} - \frac{f(a+\lambda)}{k(a+\lambda)} \right] k(t)[h(t) - g(t)]d\mu(t) \\ & = \int_{(a+\lambda, b]} \left[\frac{f(a+\lambda)}{k(a+\lambda)} - \frac{f(t)}{k(t)} \right] k(t)g(t)d\mu(t) \\ & = \int_{(a+\lambda, b]} \left[\int_{[x, b]} k(t)g(t)d\mu(t) \right] d\nu(x). \end{aligned}$$

From here we conclude that the left-hand side inequality in (2.22) holds when conditions (3.2) hold.

Further, we have

$$\begin{aligned} & \int_{[a, a+\lambda]} \left[\frac{f(t)}{k(t)} - \frac{f(a+\lambda)}{k(a+\lambda)} \right] k(t)[h(t) - g(t)]d\mu(t) \\ & = \int_{(a, a+\lambda]} \left[\int_{[a, x]} k(t)[h(t) - g(t)]d\mu(t) \right] d\nu(x) \geq 0 \end{aligned}$$

if the first condition in (3.2) is satisfied. Hence, the right-hand side inequality in (2.22) holds.

Proof of (b)-part is similar so we omit the details. \square

Theorem 3.3. *Let μ be a positive finite measure on $\mathcal{B}([a, b])$, let g, h and k be μ -integrable functions on $[a, b]$ such that k is positive, h is nonnegative and f/k is nonincreasing, right-continuous function.*

- (a) *Let consider λ be a positive constant such that $\int_{[a, a+\lambda]} h(t)k(t)d\mu(t) = \int_{[a, b]} g(t)k(t)d\mu(t)$. If*

$$\int_{[x, b]} k(t)g(t)d\mu(t) \geq 0, \quad \text{for } x \in (a + \lambda, b],$$

then

$$\begin{aligned} \int_{[a, b]} f(t)g(t)d\mu(t) &\leq \int_{[a, a+\lambda]} f(t)h(t)d\mu(t) \\ &\quad - \int_{[a, a+\lambda]} \left[\frac{f(t)}{k(t)} - \frac{f(a + \lambda)}{k(a + \lambda)} \right] k(t)[h(t) - g(t)]d\mu(t). \end{aligned}$$

If we additionally have

$$\int_{[a, x]} k(t)g(t)d\mu(t) \leq \int_{[a, x]} k(t)h(t)d\mu(t), \quad \text{for } x \in [a, a + \lambda],$$

then (2.22) holds.

- (b) *Let consider λ be a positive constant such that $\int_{(b-\lambda, b]} h(t)k(t)d\mu(t) = \int_{[a, b]} g(t)k(t)d\mu(t)$. If*

$$\int_{[a, x]} k(t)g(t)d\mu(t) \geq 0, \quad \text{for } x \in [a, b - \lambda],$$

then

$$\begin{aligned} \int_{(b-\lambda, b]} f(t)h(t)d\mu(t) - \int_{(b-\lambda, b]} \left[\frac{f(t)}{k(t)} - \frac{f(b - \lambda)}{k(b - \lambda)} \right] k(t)[h(t) - g(t)]d\mu(t) \\ \leq \int_{[a, b]} f(t)g(t)d\mu(t). \end{aligned}$$

If we additionally have

$$\int_{[x, b]} k(t)g(t)d\mu(t) \leq \int_{[x, b]} k(t)h(t)d\mu(t), \quad \text{for } x \in (b - \lambda, b],$$

then (2.23) holds.

Proof. Similar to the proof of Theorem 3.2. \square

4. CONCLUDING REMARKS AND SOME APPLICATIONS

Motivated by inequalities (2.13), (2.15), (2.22) and (2.23) we can define the following linear functionals:

$$L_1(f) = \int_{[a,b]} f(t)g(t)d\mu(t) - \int_{[a,a+\lambda]} f(t)h(t)d\mu(t), \quad (4.1)$$

$$L_2(f) = \int_{[b-\lambda,b]} f(t)h(t)d\mu(t) - \int_{[a,b]} f(t)g(t)d\mu(t), \quad (4.2)$$

$$\begin{aligned} L_3(f) &= \int_{[a,b]} f(t)g(t)d\mu(t) \\ &\quad - \int_{[a,a+\lambda]} \left(f(t)h(t) - \left[\frac{f(t)}{k(t)} - \frac{f(a+\lambda)}{k(a+\lambda)} \right] k(t)[h(t) - g(t)] \right) d\mu(t), \end{aligned} \quad (4.3)$$

$$\begin{aligned} L_4(f) &= \int_{[b-\lambda,b]} \left(f(t)h(t) - \left[\frac{f(t)}{k(t)} - \frac{f(b-\lambda)}{k(b-\lambda)} \right] k(t)[h(t) - g(t)] \right) d\mu(t) \\ &\quad - \int_{[a,b]} f(t)g(t)d\mu(t). \end{aligned} \quad (4.4)$$

We can consider functionals L_1 and L_2 under assumptions of Theorems 2.5, 2.6 or 3.1. Further, taking $h \equiv 1$ these functionals can be considered under assumptions of Theorems 2.1 and 2.2.

Functionals L_3 and L_4 can be considered under conditions of Theorems 2.9, 2.10, 3.2 or 3.3. Further, taking $k \equiv 1$ these functionals can also be considered under assumptions of Theorems 2.7 and 2.8.

Remark 4.1. $L_i(f) \geq 0$, $i = 1, \dots, 4$ for all nondecreasing functions f/k .

Remark 4.2. Using similar construction as in [2] we could produce exponentially convex functions and new Cauchy means related to functionals L_i , $i = 1, \dots, 4$ but here we omit the details.

Acknowledgment. This work has been fully supported by Croatian Science Foundation under the project 5435.

REFERENCES

- [1] P. Billingsley, *Probability and Measure*, 2nd edn, John Wiley & Sons, 1986.
- [2] J. Jakšetić and J. Pečarić, *Steffensen's inequality for positive measures*, Math. Inequal. Appl., 18 (3) (2015), 1159–1170.
- [3] Z. Liu, *More on Steffensen type inequalities*, Soochow J. Math., 31 (3) (2005), 429–439.
- [4] P. R. Mercer, *Extensions of Steffensen's inequality*, J. Math. Anal. Appl., 246 (1) (2000), 325–329.

- [5] G. Milovanović and J. Pečarić, *The Steffensen inequality for convex function of order n* , Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz., 634–677 (1979), 97–100.
- [6] J. E. Pečarić, *Notes on some general inequalities*, Publ. Inst. Math. (Beograd), (N. S.) 32 (46) (1982), 131–135.
- [7] J. Pečarić, A. Perušić and K. Smoljak, *Mercer and Wu-Srivastava generalisations of Steffensen's inequality*, Appl. Math. Comput., 219 (21) (2013), 10548–10558.
- [8] J. Pečarić, K. Smoljak Kalamir and S. Varošaneć, *Steffensen's and related inequalities (A comprehensive survey and recent advances)*, Monographs in inequalities 7, Element, Zagreb, 2014.
- [9] J. F. Steffensen, *On certain inequalities between mean values and their application to actuarial problems*, Skand. Aktuarietids, (1918), 82–97.
- [10] S. H. Wu and H. M. Srivastava, *Some improvements and generalizations of Steffensen's integral inequality*, Appl. Math. Comput., 192 (2) (2007), 422–428.

(Received: March 24, 2015)

Julije Jakšetić
Faculty of Mechanical Engineering and
Naval Architecture
University of Zagreb, Ivana Lučića 5
10000 Zagreb, Croatia
julije@math.hr

Josip Pečarić and Ksenija Smoljak Kalamir
Faculty of Textile Technology
University of Zagreb
Prilaz baruna Filipovića 28a
10000 Zagreb, Croatia
pecaric@element.hr
ksmoljak@ttf.hr